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% 5.9 Z G| II#F4 SRR Es nts i

22 FA(m) | 2 AEA(M) | BEHTIEELI(M) | & FLE(M)
(MSE) (RMSE) (AME) (Max error)
BEpE 1 1.37 1.17 0.94 2.65
BRI E 2 0.98 0.99 0.76 2.40
BRI E 3 1.56 1.25 1.00 3.17
BELRE 4 1.33 1.15 0.95 2.53
BRI 5 1.13 1.06 0.84 2.48

# 510 & |IVagA! 5 R st 4 Bt 4

A A(M) | B AEA(M) | FHTIIEI:EALA(M) | R x AL E@mM)
(MSE) (RMSE) (AME) (Max error )
B 1 2.66 1.63 1.47 2.83
BRI 2 2.67 1.64 1.47 2.89
B2 3 5.75 2.40 2.26 3.93
BRI 4 2.03 1.43 1.26 2.62
BELRE 5 2.87 1.69 1.53 2.91
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# 511 %

X | VIZgA (5 4

E R R S

| £

7 A (m)

¥ 12384 (m)

BT E (m)

B A (M)

(MSE) (RMSE) (AME) (Max error)
LR 0.42 0.65 0.51 1.68
LR 0.45 0.67 0.53 1.72
BLp 1.04 1.02 0.82 2.69
IR 0.43 0.65 0.52 1.63
BLp| 0.47 0.69 0.54 1.75

% 5.12 % b VIsgA! 5 et if £ 33t 7] &
A (m) | 3B E(M) | BT I (m) | B+ AL E(m)

(MSE) (RMSE) (AME) (Max error )
BRI 4.05 2.01 1.73 3.48
IR 4.99 2.23 1.93 3.75
R 9.22 3.04 2.78 5.00
LR 4.57 2.14 1.85 3.68
IR 4.99 2.23 1.94 3.75
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